ATH

Name

5th Grade Readiness:

Date

Questions 1-3: Multiply the multi-digit numbers.

Progress Assessment

Answer: 1140

1. 2.
359 2753
X 4 X 6
Answer: 1436 Answer: 16518
3.
76
5

Please stop, put your pencil down
and wait for the next directions.
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OeTa 5th Grade Readiness: Progress Assessment

(continued)

Questions 4-6: Divide the multi-digit numbers. (Note: It is possible to have a remainder.)

4. 5.

5)41 6 )504

8R1] 8R2 8R3 8R4

Answer: Answer: 84

58,160

Please stop, put your pencil down
and wait for the next directions.

Answer: 1632

© OAISD, June 2020 Number Correct =



OeTa 5th Grade Readiness: Progress Assessment

(continued)

Questions 7-9: Compare the two fractions. (<, >, =)

7.
Answer: >
8.
3 5
6
Answer: <
9.
20
Answer: =

Please stop, put your pencil down and wait for the next directions.
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OeTa 5th Grade Readiness: Progress Assessment

(continued)

Questions 10-12: Find equal values of the mixed number and improper fraction.

. 1. . . .
10. The mixed number 4 3 s equivalent to which expression?

1 3 3 3 3 1

_ o = — — 4 — 4+ =

o4x3 3+3+3+3+3
o 3 1 o) +1+1+
+3 3 3

5
11. The mixed number 3 P is equivalent to which fraction?

OE O 23 O 18 O 15
6 5

13
12. The improper fraction "y is equivalent to which mixed number or fraction?

O
w
| —
O
N
wilN
O
N
OV I
O

Please stop, put your pencil down and wait for the next directions.
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(N 5th Grade Readiness: Progress Assessment

(continued)

Questions 13-15: Add and subtract the mixed numbers.

13. 14.

YIRS

+ 3

Ul W

[

—

o D o\ u

| 57/10 67/5 52/5 | 31/0 39/6 59/12
15.

N
g -

.
7

Please stop, put your pencil down
and wait for the next directions.

| 22/7 25/7 12/7
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Gia 5th Grade Readiness: Progress Assessment

(continued)

Questions 16-18: Multiply the fraction and whole number.

1
16. — X 3 s equivalent to which expression?
1 1 1 1 1
O %3 © X1 X3
1 o | 1.1t
© 3+ 7 2717
17. Multiply:
1
5 x =
3
1 15
o — o — o - o -
15 1
18. Multiply:
5
3 X =
6
15 5 18 15
o — o — o — O —
18 5 18

Please stop, put your pencil down and wait for the next directions.
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